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For each of the points below, explain as fully as possible how they can be applied to the Wales Coastal Path development.

	‘The industry is predominantly composed of private sector organisations, many of which are small or medium sized’.



	‘Private sector organisations are supported by and work alongside a range of public and voluntary sector bodies.’



	‘The industry is vulnerable to external pressures.’


	‘The industry makes extensive use of a range of technologies.’


	‘Many of the products of the travel and tourism industry are intangible, perishable and non-standardised.’
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Which skills did you use to complete this activity? 





…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………





Which Key Skills did you use to complete this activity? 





Delete the skills you didn’t use:
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